

Available online at www.sciencedirect.com



JOURNAL OF COMPUTATIONAL AND APPLIED MATHEMATICS

Journal of Computational and Applied Mathematics 215 (2008) 220-229

www.elsevier.com/locate/cam

Analytical solution of the linear fractional differential equation by Adomian decomposition method $\stackrel{\text{the}}{\sim}$

Yizheng Hu^a, Yong Luo^{a,*}, Zhengyi Lu^{a, b}

^aMathematics Department of Wenzhou University, Wenzhou, Zhejiang Province 325035, China ^bInstitute of Computer Applications, Academia Sinica, Chengdu, Sichuan Province 610000, China

Received 13 March 2006; received in revised form 8 April 2007

Abstract

In this paper, we consider the *n*-term linear fractional-order differential equation with constant coefficients and obtain the solution of this kind of fractional differential equations by Adomian decomposition method. With the equivalent transmutation, we show that the solution by Adomian decomposition method is the same as the solution by the Green's function. Finally, we illustrate our result with some examples.

© 2007 Elsevier B.V. All rights reserved.

MSC: 26A33; 65L05

Keywords: Fractional derivative; Fractional integral; Adomian decomposition method; Green's function

1. Introduction

Nowadays there is increasing attention paid to fractional differential equations and their applications in different research areas. It is well known that these equations are concluded from many physical and chemical problems [15] such as the motion of a large thin plate in a Newtonian fluid, the process of cooling a semi-infinite body by radiation, the $PI^{\lambda}D^{\mu}$ controllers for the control of dynamical systems, the phenomena in electromagnetic acoustic viscoelasticity, electrochemistry and material science and so on. And these equations are more adequate for modeling physical and chemical process than integer-order differential equations.

So far there have been several fundamental works on the fractional derivative and fractional differential equations, written by Oldham and Spanier [14], Miller and Ross [12], Poldubny [15] and others. These works are an introduction to the theory of the fractional derivative and fractional differential equations and provide a systematic understanding of the fractional calculus such as the existence and the uniqueness, some analytical methods for solving fractional differential equations, namely the Green's function method, the Mellin transform method, the power series and Yu. I. Babenko's symbolic method. In particular, restrictions on the initial conditions, the hypotheses on the behavior of the right-hand side function f and the existence of the Green's function are treated in [15, Chapters III and V]. Besides

* Corresponding author.

 $^{^{\}circ}$ Project Supported by a National Key Basic Research Project of China (Grant no. 2004CB318000) and the Natural Science Foundation of China (Grant no. 10371090) and the Natural Science Foundation of Zhejiang Province (Grant no. M103043).

E-mail addresses: epearl@126.com (Y. Hu), luoyong_china@yahoo.com (Y. Luo), zhengyilu@hotmail.com (Z. Lu).

^{0377-0427/\$ -} see front matter @ 2007 Elsevier B.V. All rights reserved. doi:10.1016/j.cam.2007.04.005

there are many extensive research papers on fractional differential equations including the development of an effective method for solving fractional differential equations. It should be mentioned that the work of Diethelm et al. is devoted to establishing numerical solutions of several classes of linear and nonlinear fractional differential equations [5–10]. Trinks and Ruge have proposed a numerical scheme for the solution of Bagley–Torvik equation [18]. And at present an attempt has been made to obtain the solutions of fractional differential equations by the decomposition method, as the decomposition method provides an effective procedure for the analytical solution of large classes of linear and nonlinear differential equations [1–4,13,16,17]. However, in spite of extensive studies for fractional differential equations, the literature is rather sparse for generalized-order fractional differential equations.

In this paper, we consider a class of linear fractional differential equations of arbitrary order with constant coefficients and make use of Adomian decomposition method to obtain the solutions of these fractional differential equations. We verify that the solutions obtained by Adomian decomposition method are the same as the solutions expressed by the Green's function, which are convergent as the solutions expressed by the Green's function are convergent expansions in power series [15]. And we show the convergence of the solution by Adomian decomposition method.

The paper is organized as follows. In Section 2, we give definitions of the fractional derivative and fractional integral with some basic properties. In Section 3, the analytical solution of the linear fractional differential equation of arbitrary order is given by Adomian decomposition method and verified to the same as the one by the Green's function method. In Section 4, the convergence of the solution is considered. And we show some concrete examples in Section 5.

2. Preliminaries and notations

In this section we give the definition of the Riemann–Liouville fractional derivative and fractional integral with some basic properties. At the same time we review the application of Adomian decomposition method to differential equations and the properties of multiple infinite sums.

Definition 1 (*Podlubny* [15]). The Riemann–Liouville fractional derivative of order p with respect to the variable t and with the starting point at t = a is

$${}_{a}D_{t}^{p}f(t) = \begin{cases} \frac{1}{\Gamma(-p+m+1)} \frac{d^{m+1}}{dt^{m+1}} \int_{a}^{t} (t-\tau)^{m-p} f(\tau) \, \mathrm{d}\tau, & 0 \leq m \leq p < m+1 \\ \frac{d^{m}f(t)}{dt^{m}}, & p = m+1 \in N. \end{cases}$$

Definition 2 (*Podlubny* [15]). The Riemann–Liouville fractional integral of order *p* is

$${}_{a}D_{t}^{-p}f(t) = \frac{1}{\Gamma(p)} \int_{a}^{t} (t-\tau)^{p-1} f(\tau) \,\mathrm{d}\tau, \quad p > 0.$$

For convenience, we denote ${}_{a}D_{t}^{p}$ by D^{p} , i.e. $D^{p} \equiv {}_{a}D_{t}^{p}$, for p is real.

Lemma 3 (Podlubny [15]). If f(t) is continuous, then the following relationship holds:

$${}_{a}D_{t}^{p}({}_{a}D_{t}^{-q}f(t)) = {}_{a}D_{t}^{p-q}f(t)$$

Lemma 4 (Podlubny [15]). If f(t) is continuous, then the following relationship holds:

$${}_{a}D_{t}^{-p}({}_{a}D_{t}^{-q}f(t)) = {}_{a}D_{t}^{-p-q}f(t) = {}_{a}D_{t}^{-q}({}_{a}D_{t}^{-p}f(t)).$$

Adomian decomposition method: [2-4] Let us consider the differential equation in the form

$$Lu + Ru + Nu = g,$$

where L is an invertible linear operator, R is the remainder of the linear operator and N is a nonlinear operator. Applying the inverse operator L^{-1} to both sides of Eq. (1), we obtain

$$u = \Phi + L^{-1}g - L^{-1}Ru - L^{-1}Nu,$$
⁽²⁾

where Φ arises from the given initial condition.

The Adomian decomposition method assumes the solution u described by the series

$$u = \sum_{n=0}^{\infty} u_n.$$
(3)

By substituting the above equation in Eq. (2), we obtain the recursive relationship:

$$u_0 = \Phi + L^{-1}g,$$

$$u_n = -L^{-1}Ru_{n-1} - L^{-1}Nu_{n-1}, \quad n \ge 1.$$
(4)

Hence the general solution u is obtained since each term u_i is calculated.

The following properties of multiple infinite sums are useful to get the main result in Section 3.

Proposition 5.

$$\sum_{k_1=0}^{\infty} \cdots \sum_{k_n=0}^{\infty} a_{k_1,k_2,\dots,k_{n-1},k_n} = \sum_{m=0}^{\infty} \sum_{\substack{k_1,\dots,k_{n-1},k_n \ge 0\\k_1+\dots+k_{n-1}+k_n=m}} a_{k_1,k_2,\dots,k_{n-1},k_n}.$$

Proof. It is well known that an infinite double sums can be written in terms of a single infinite series:

$$\sum_{k_1=0}^{\infty} \sum_{k_2=0}^{\infty} a_{k_1,k_2} = \sum_{m=0}^{\infty} \sum_{\substack{k_1,k_2 \ge 0\\k_1+k_2=m}} a_{k_1,k_2}.$$

So the identity is true when n = 2. Now, let us assume that

$$\sum_{k_1=0}^{\infty} \cdots \sum_{k_{n-1}=0}^{\infty} a_{k_1,k_2,\dots,k_{n-1}} = \sum_{s=0}^{\infty} \sum_{\substack{k_1,\dots,k_{n-1} \ge 0\\k_1+\dots+k_{n-1}=s}} a_{k_1,k_2,\dots,k_{n-1}}.$$

Then

$$\sum_{k_1=0}^{\infty} \cdots \sum_{k_n=0}^{\infty} a_{k_1,k_2,\dots,k_{n-1},k_n} = \sum_{k_n=0}^{\infty} \sum_{k_1=0}^{\infty} \cdots \sum_{k_{n-1}=0}^{\infty} a_{k_1,k_2,\dots,k_{n-1},k_n}$$
$$= \sum_{k_n=0}^{\infty} \sum_{\substack{s=0 \ k_1,\dots,k_{n-1} \ge 0 \\ k_1+\dots+k_{n-1}=s}} a_{k_1,k_2,\dots,k_{n-1},k_n}$$
$$= \sum_{m=0}^{\infty} \sum_{\substack{k_n+s=m \\ k_n \ge 0, s \ge 0}} \sum_{\substack{k_1,\dots,k_{n-1},k_n \ge 0 \\ k_1+\dots+k_{n-1}=s}} a_{k_1,k_2,\dots,k_{n-1},k_n} \square$$

Thus, it is easy to see

Proposition 6.

$$\sum_{m=0}^{\infty} \sum_{\substack{k_1,\dots,k_{n-1},k_n \ge 0\\k_1+\dots+k_{n-1}+k_n=m}} a_{k_1,k_2,\dots,k_{n-1},k_n} = \sum_{s=0}^{\infty} \sum_{\substack{k_1,\dots,k_{n-1} \ge 0\\k_1+\dots+k_{n-1}=s}} \sum_{k_n=0}^{\infty} a_{k_1,k_2,\dots,k_{n-1},k_n}.$$

3. The analytical solution of the linear constant coefficients fractional differential equation

In this section, we make use of Adomian decomposition method to present the analytical solution of the linear fractional-order differential equation with constant coefficients. After some transmutations and calculations, we show that the solution by Adomian decomposition method is the same as the solution by the Green's function.

Consider the following n-term fractional-order differential equation with constant coefficients

$$a_n D^{\beta_n} y(t) + a_{n-1} D^{\beta_{n-1}} y(t) + \dots + a_1 D^{\beta_1} y(t) + a_0 D^{\beta_0} y(t) = f(t),$$

$$y^{(i)}(0) = 0 \quad \text{for } i = 0, 1, \dots, n,$$
(6)

where $D^p \equiv_0 D_t^p$, $n + 1 > \beta_n \ge n > \beta_{n-1} > \cdots > \beta_1 > \beta_0$ and $a_i (i = 0, 1, \dots, n)$ is a real constant. By applying the inverse operator $D^{-\beta_n}$ to Eq. (5), based on Lemma 3 and the initial condition (6), we have

$$y(t) + \frac{a_{n-1}}{a_n} D^{\beta_{n-1}-\beta_n} y(t) + \dots + \frac{a_0}{a_n} D^{\beta_0-\beta_n} y(t) = \frac{1}{a_n} D^{-\beta_n} f(t),$$
(7)

Using the Adomian decomposition method and Lemma 4, we obtain the recursive relationship:

$$y_{0}(t) = \frac{1}{a_{n}} D^{-\beta_{n}} f(t),$$

$$y_{1}(t) = -\left(\frac{a_{n-1}}{a_{n}} D^{\beta_{n-1}-\beta_{n}} + \dots + \frac{a_{0}}{a_{n}} D^{\beta_{0}-\beta_{n}}\right) y_{0}(t),$$

$$y_{2}(t) = (-1)^{2} \left(\frac{a_{n-1}}{a_{n}} D^{\beta_{n-1}-\beta_{n}} + \dots + \frac{a_{0}}{a_{n}} D^{\beta_{0}-\beta_{n}}\right)^{2} y_{0}(t),$$

$$\dots \dots$$

$$y_{s}(t) = (-1)^{s} \left(\frac{a_{n-1}}{a_{n}} D^{\beta_{n-1}-\beta_{n}} + \dots + \frac{a_{0}}{a_{n}} D^{\beta_{0}-\beta_{n}}\right)^{s} y_{0}(t),$$

$$\dots \dots$$
(8)

Adding all terms of the recursion, we obtain the solution by Adomian decomposition method

$$y(t) = \sum_{s=0}^{\infty} y_s(t)$$

= $\sum_{s=0}^{\infty} (-1)^s \left(\frac{a_{n-1}}{a_n} D^{\beta_{n-1}-\beta_n} + \dots + \frac{a_0}{a_n} D^{\beta_0-\beta_n} \right)^s y_0(t)$
= $\frac{1}{a_n} \sum_{s=0}^{\infty} (-1)^s \left(\frac{a_{n-1}}{a_n} D^{\beta_{n-1}-\beta_n} + \dots + \frac{a_0}{a_n} D^{\beta_0-\beta_n} \right)^s D^{-\beta_n} f(t)$

Y. Hu et al. / Journal of Computational and Applied Mathematics 215 (2008) 220-229

$$= \frac{1}{a_n} \sum_{s=0}^{\infty} (-1)^s \sum_{\substack{k_0, k_1, \dots, k_{n-1} \ge 0\\k_0+k_1+\dots+k_{n-1}=s}} \frac{s!}{k_0!k_1!\cdots k_{n-1}!} \left(\frac{a_{n-1}}{a_n}\right)^{k_{n-1}} \left(\frac{a_{n-2}}{a_n}\right)^{k_{n-2}} \cdots \left(\frac{a_0}{a_n}\right)^{k_0} \\ \times D^{k_{n-1}(\beta_{n-1}-\beta_n)+k_{n-2}(\beta_{n-2}-\beta_n)+\dots+k_0(\beta_0-\beta_n)-\beta_n} f(t) \\ = \frac{1}{a_n} \sum_{s=0}^{\infty} (-1)^s \sum_{\substack{k_0, k_1, \dots, k_{n-1} \ge 0\\k_0+k_1+\dots+k_{n-1}=s}} \frac{s!}{k_0!k_1!\cdots k_{n-1}!} \left(\frac{a_{n-1}}{a_n}\right)^{k_{n-1}} \left(\frac{a_{n-2}}{a_n}\right)^{k_{n-2}} \cdots \left(\frac{a_0}{a_n}\right)^{k_0} \\ \times \frac{\int_0^t (t-\tau)^{\beta_n+k_{n-1}(\beta_n-\beta_{n-1})+k_{n-2}(\beta_n-\beta_{n-2})+\dots+k_0(\beta_n-\beta_0)-1} f(\tau) \, \mathrm{d}\tau}{\Gamma(\beta_n+k_{n-1}(\beta_n-\beta_{n-1})+k_{n-2}(\beta_n-\beta_{n-2})+\dots+k_0(\beta_n-\beta_0))}.$$
(9)

Utilizing the properties of the infinite sums (Proposition 5 and 6), the above solution can be rewritten in an equivalent form:

$$\begin{split} \mathbf{y}(t) &= \frac{1}{a_n} \sum_{k_{n-1}=0}^{\infty} \sum_{m=0}^{\infty} \sum_{\substack{k_0,k_1,\dots,k_{n-2} \ge 0\\k_0+k_1+\cdots+k_n=2=m}}^{\infty} (-1)^{k_{n-1}+m} \frac{(k_{n-1}+m)!}{k_0!k_1!,\dots,k_{n-1}!} \\ &\times \left(\frac{a_{n-1}}{a_n}\right)^{k_{n-1}} \left(\frac{a_{n-2}}{a_n}\right)^{k_{n-2}} \cdots \left(\frac{a_0}{a_n}\right)^{k_0} \\ &\times \frac{\int_0^t (t-\tau)^{\beta_n+k_{n-1}(\beta_n-\beta_{n-1})+k_{n-2}(\beta_n-\beta_{n-2})+\cdots+k_0(\beta_n-\beta_0)-1} f(\tau) \, \mathrm{d}\tau}{\Gamma(\beta_n+k_{n-1}(\beta_n-\beta_{n-1})+k_{n-2}(\beta_n-\beta_{n-2})+\cdots+k_0(\beta_n-\beta_0))} \\ &= \int_0^t \frac{1}{a_n} \sum_{m=0}^{\infty} \frac{(-1)^m}{m!} \sum_{\substack{k_0,k_1,\dots,k_{n-2} \ge 0\\k_0+k_1+\cdots+k_{n-2}=m}}^{\infty} \frac{m!}{k_0!k_1!,\dots,k_{n-2}!} \\ &\times \prod_{l=0}^{n-2} \left(\frac{a_l}{a_n}\right)^{k_l} (t-\tau)^{(\beta_n-\beta_{n-1})m+\beta_n+\sum_{j=0}^{n-2}(\beta_{n-1}-\beta_j)k_j-1} \\ &\times \sum_{k_{n-1}=0}^{\infty} (-1)^{k_{n-1}} \left(\frac{a_{n-1}}{a_n}\right)^{k_{n-1}} \frac{(k_{n-1}+m)!}{(k_{n-1})!} \\ &\times \frac{(t-\tau)^{k_{n-1}(\beta_n-\beta_{n-1})}}{\Gamma(k_{n-1}(\beta_n-\beta_{n-1})+m(\beta_n-\beta_{n-1})+\beta_n+\sum_{j=0}^{n-2}(\beta_{n-1}-\beta_j)k_j)} f(\tau) \, \mathrm{d}\tau \\ &= \int_0^t \frac{1}{a_n} \sum_{m=0}^{\infty} \frac{(-1)^m}{m!} \sum_{\substack{k_0,k_1,\dots,k_{n-2} \ge 0\\k_0+k_1+\cdots+k_{n-2}=m}} (m;k_0,k_1,\dots,k_{n-2}) \\ &\times \prod_{l=0}^{n-2} \left(\frac{a_l}{a_n}\right)^{k_l} (t-\tau)^{(\beta_n-\beta_{n-1})m+\beta_n+\sum_{j=0}^{n-2}(\beta_{n-1}-\beta_j)k_j-1} \\ &\times E_{\beta_n-\beta_{n-1},\beta_n+\sum_{j=0}^{n-2}(\beta_{n-1}-\beta_j)k_j} \left(-\frac{a_{n-1}}{a_n}(t-\tau)^{\beta_n-\beta_{n-1}}}\right) f(\tau) \, \mathrm{d}\tau, \end{split}$$

(10)

where $(m; k_0, k_1, \ldots, k_{n-2})$ are the multinomial coefficients and the function

$$G_{n}(t) = \frac{1}{a_{n}} \sum_{m=0}^{\infty} \frac{(-1)^{m}}{m!} \sum_{\substack{k_{0},k_{1},\dots,k_{n-2} \ge 0\\k_{0}+k_{1}+\dots+k_{n-2}=m}} (m;k_{0},k_{1},\dots,k_{n-2})$$

$$\times \prod_{i=0}^{n-2} \left(\frac{a_{i}}{a_{n}}\right)^{k_{i}} t^{(\beta_{n}-\beta_{n-1})m+\beta_{n}+\sum_{j=0}^{n-2}(\beta_{n-1}-\beta_{j})k_{j}-1}$$

$$\times E_{\beta_{n}-\beta_{n-1},\beta_{n}+\sum_{j=0}^{n-2}(\beta_{n-1}-\beta_{j})k_{j}} \left(-\frac{a_{n-1}}{a_{n}}t^{\beta_{n}-\beta_{n-1}}\right)$$
(11)

is the fractional Green's function for Eq. (5) and $E_{\lambda,\mu}^{(i)}(y)$ is Mittag-Leffler function:

$$E_{\lambda,\mu}^{(i)}(y) = \frac{d^i}{dy^i} E_{\lambda,\mu}(y) = \sum_{j=0}^{\infty} \frac{(i+j)! y^j}{j! \Gamma(\lambda j + \lambda i + \mu)}.$$

So it is readily seen that the solution by Adomian decomposition method is actually the solution by the Green's function [15], i.e.

$$y(t) = \int_0^t G_n(t-\tau) f(\tau) \,\mathrm{d}\tau.$$

4. Analysis of the convergence

In this section, we show the convergence of the solution by Adomian decomposition method. Based on Eq. (8), we have

$$\begin{aligned} |y_{s}(t)| &= |(-1)^{s} \left(\frac{a_{n-1}}{a_{n}} D^{\beta_{n-1}-\beta_{n}} + \dots + \frac{a_{0}}{a_{n}} D^{\beta_{0}-\beta_{n}} \right)^{s} y_{0}(t)| \\ &= |(-1)^{s} \sum_{\substack{k_{0},k_{1},\dots,k_{n-1} \ge 0\\k_{0}+k_{1}+\dots+k_{n-1}=s}} \frac{s!}{k_{0}!k_{1}!\dotsk_{n-1}!} \left(\frac{a_{n-1}}{a_{n}} \right)^{k_{n-1}} \left(\frac{a_{n-2}}{a_{n}} \right)^{k_{n-2}} \dots \left(\frac{a_{0}}{a_{n}} \right)^{k_{0}} \\ &\times D^{k_{n-1}(\beta_{n-1}-\beta_{n})+k_{n-2}(\beta_{n-2}-\beta_{n})+\dots+k_{0}(\beta_{0}-\beta_{n})} y_{0}(t)| \\ &= \left| \sum_{\substack{k_{0},k_{1},\dots,k_{n-1} \ge 0\\k_{0}+k_{1}+\dots+k_{n-1}=s}} \frac{s!}{k_{0}!k_{1}!\dotsk_{n-1}!} \left(\frac{a_{n-1}}{a_{n}} \right)^{k_{n-1}} \left(\frac{a_{n-2}}{a_{n}} \right)^{k_{n-2}} \dots \left(\frac{a_{0}}{a_{n}} \right)^{k_{0}} \\ &\times \frac{\int_{0}^{t} (t-\tau)^{k_{n-1}(\beta_{n}-\beta_{n-1})+k_{n-2}(\beta_{n}-\beta_{n-2})+\dots+k_{0}(\beta_{n}-\beta_{0})-1} y_{0}(\tau) \, \mathrm{d}\tau}{\Gamma(k_{n-1}(\beta_{n}-\beta_{n-1})+k_{n-2}(\beta_{n}-\beta_{n-2})+\dots+k_{0}(\beta_{n}-\beta_{0}))} \end{aligned}$$

Y. Hu et al. / Journal of Computational and Applied Mathematics 215 (2008) 220-229

$$\geq L \cdot \sum_{\substack{k_0, k_1, \dots, k_{n-1} \geq 0\\ k_0 + k_1 + \dots + k_{n-1} = s}} \frac{s!}{k_0! k_1! \cdots k_{n-1}!} \cdot \frac{(M|t|^{(\beta_n - \beta_{n-1})})^{k_{n-1}} \cdots (M|t|^{(\beta_n - \beta_0)})^{k_0}}{\Gamma(k_{n-1}(\beta_n - \beta_{n-1}) + \dots + k_0(\beta_n - \beta_0) + 1)}$$

$$=L \cdot \sum_{\substack{k_0, k_1, \dots, k_{n-1} \ge 0\\k_0+k_1+\dots+k_{n-1}=s}} \frac{(s; k_0, k_1, \dots, k_{n-1}) \prod_{i=0}^{n-1} z_i^{r_i}}{\Gamma(1 + \sum_{i=0}^{n-1} k_i \gamma_i)},$$
(12)

where $M = \max\{|(a_{n-1})/a_n|, |(a_{n-2})/a_n|, \dots, |a_0/a_n|\}, L = \max_{t \in [0,T]} |y_0(t)|, \gamma_i = \beta_n - \beta_i (i = 0, \dots, n-1), z_i = M|t|^{\gamma_i} (i = 0, \dots, n-1), (s; k_0, k_1, \dots, k_{n-1})$ are multinomial coefficients.

Hence, $\sum_{s=0} y_s(t) \leq L \cdot E_{(\gamma_0, \dots, \gamma_{n-1}), \beta}(z_0, \dots, z_{n-1})$, where $\beta = 1$ and $E_{(\gamma_0, \dots, \gamma_{n-1}), \beta}(z_0, \dots, z_{n-1})$ is the multivariate Mittag–Leffler function

$$E_{(\gamma_0,\dots,\gamma_{n-1}),\beta}(z_0,\dots,z_{n-1}) = \sum_{s=0}^{\infty} \sum_{\substack{k_0,k_1,\dots,k_{n-1} \ge 0\\k_0+k_1+\dots+k_{n-1}=s}} \frac{(s;k_0,k_1,\dots,k_{n-1})\prod_{i=0}^{n-1} z_i^{k_i}}{\Gamma(\beta + \sum_{i=0}^{n-1} k_i \gamma_i)}$$

which is convergent [11]. So we obtain the convergence of the solution by Adomian decomposition method.

5. Illustration

In this section, we give some examples to demonstrate the conclusion that the solution by Adomian decomposition method is actually the solution by the Green's function.

Example 1. Relaxation–oscillation equation [15]

Let us consider an initial value problem for the relaxation-oscillation equation

$${}_{0}D_{t}^{\alpha}y(t) + Ay(t) = f(t) \quad (t > 0),$$

$$y^{(k)}(0) = 0 \quad (k = 0, 1, \dots, n - 1),$$
 (13)

where $n - 1 \leq \alpha < n$.

Following the above procedure of solving the *n*-term linear fractional-order differential equation and using Adomian decomposition method, we have

$$y_{0} = D^{-\alpha} f(t),$$

$$y_{1} = -AD^{-\alpha} y_{0} = -AD^{-2\alpha} f(t),$$

$$y_{2} = -AD^{-\alpha} y_{1} = (-A)^{2} D^{-3\alpha} f(t),$$

...

$$y_{n} = -AD^{-\alpha} y_{n-1} = (-A)^{n} D^{-(n+1)\alpha} f(t),$$

 $y_n = -AD^{-\alpha}y_{n-1} = (-A)^n D^{-(n+1)\alpha} f(t),$... Thus, we obtain the solution y(t) by Adomian decomposition method which is the same as the solution by the Green's function:

$$y(t) = \sum_{n=0}^{\infty} y_n$$

= $\sum_{n=0}^{\infty} (-A)^n D^{-(n+1)\alpha} f(t)$
= $\sum_{n=0}^{\infty} (-A)^n \frac{1}{\Gamma((n+1)\alpha)} \int_0^t (t-\tau)^{(n+1)\alpha-1} f(\tau) d\tau$
= $\int_0^t \sum_{n=0}^{\infty} (t-\tau)^{(\alpha-1)} \frac{(-A)^n (t-\tau)^{n\alpha}}{\Gamma(n\alpha+\alpha)} f(\tau) d\tau$
= $\int_0^t G_2(t-\tau) f(\tau) d\tau,$ (15)

where $G_2(t) = t^{\alpha - 1} E_{\alpha, \alpha}(-At^{\alpha})$.

Example 2. Bagley–Torvik equation [15,16]

Let us consider the following initial value equation problem for the inhomogeneous Bagley-Torvik equation

$$Ay''(t) + BD^{3/2}y(t) + Cy(t) = f(t) \quad (t > 0),$$

y(0) = 0, y'(0) = 0. (16)

Following the above procedure of solving the *n*-term linear fractional-order differential equation and using Adomian decomposition method, we have

$$y_{0} = \frac{1}{A}D^{-2}f(t),$$

$$y_{1} = -\frac{C}{A}\left(\frac{B}{C}I + D^{-3/2}\right)D^{-1/2}y_{0},$$

$$y_{2} = -\frac{C}{A}\left(\frac{B}{C}I + D^{-3/2}\right)D^{-1/2}y_{1} = \left(-\frac{C}{A}\right)^{2}\left(\frac{B}{C}I + D^{-3/2}\right)^{2}D^{-2/2}y_{0},$$

$$y_{3} = -\frac{C}{A}\left(\frac{B}{C}I + D^{-3/2}\right)D^{-1/2}y_{2} = \left(-\frac{C}{A}\right)^{3}\left(\frac{B}{C}I + D^{-3/2}\right)^{3}D^{-3/2}y_{0},$$
...
$$C\left(\frac{B}{C}I + D^{-3/2}\right)D^{-1/2}y_{2} = \left(-\frac{C}{A}\right)^{n}\left(\frac{B}{C}I + D^{-3/2}\right)^{n}D^{-3/2}y_{0},$$
...

$$y_n = -\frac{C}{A} \left(\frac{B}{C}I + D^{-3/2}\right) D^{-1/2} y_{n-1} = \left(-\frac{C}{A}\right)^n \left(\frac{B}{C}I + D^{-3/2}\right)^n D^{-n/2} y_0,$$

... ... (17)

Thus, we obtain the solution y(t) by Adomian decomposition method which is the same as the solution by the Green's function:

$$y(t) = \sum_{n=0}^{\infty} y_n$$

$$= \sum_{n=0}^{\infty} \left(-\frac{C}{A} \right)^n \left(\frac{B}{C} I + D^{-32} \right)^n D^{-n/2} y_0$$

$$= \sum_{n=0}^{\infty} \left(-\frac{C}{A} \right)^n \sum_{i=0}^n C_n^{n-i} \left(\frac{B}{C} I \right)^{n-i} D^{-3/2i} D^{-n/2} \frac{1}{A} D^{-2} f(t)$$

$$= \frac{1}{A} \sum_{n=0}^{\infty} \left(-\frac{C}{A} \right)^n \sum_{i=0}^n \frac{n!}{(n-i)!i!} \left(\frac{B}{C} \right)^{n-i} D^{-(3i/2+n/2+2)} f(t)$$

$$= \frac{1}{A} \int_0^t \sum_{n=0}^{\infty} \left(-\frac{C}{A} \right)^n \sum_{i=0}^n \frac{n!}{(n-i)!i!} \left(\frac{B}{C} \right)^{n-i} \frac{1}{\Gamma(3i/2+n/2+2)} (t-\tau)^{3i/2+n/2+2-1} f(\tau) \, \mathrm{d}\tau$$

$$= \frac{1}{A} \int_0^t \sum_{i=0}^{\infty} \sum_{j=0}^{\infty} \left(-\frac{C}{A} \right)^{i+j} \frac{(i+j)!}{j!i!} \left(\frac{B}{C} \right)^j \frac{1}{\Gamma(3i/2+(i+j)/2+2)} (t-\tau)^{3i/2+(i+j)/2+2-1} f(\tau) \, \mathrm{d}\tau$$

$$= \frac{1}{A} \int_0^t \sum_{i=0}^{\infty} \frac{(-1)^i}{i!} \left(\frac{C}{A} \right)^i t^{2i+1} \sum_{j=0}^{\infty} \frac{(i+j)!(-\frac{B}{A}\sqrt{t-\tau})^j}{j!\Gamma(j/2+i/2+3i/2+2)} f(\tau) \, \mathrm{d}\tau$$

$$= \int_0^t G_3(t-\tau) f(\tau) \, \mathrm{d}\tau, \qquad (18)$$

where $G_3(t) = (1/A) \sum_{i=0}^{\infty} \frac{(-1)^i}{i!} (\frac{C}{A})^i t^{2i+1} E_{1/2,2+3i/2}^{(i)} (-\frac{B}{A}\sqrt{t}).$

6. Conclusion

In this paper, we analyze the solution of the *n*-term linear fractional-order differential equation with constant coefficients by Adomian decomposition method. And we verify that the solution by Adomian decomposition method is actually the same as the solution by the Green's function.

Acknowledgements

The authors would like to express their thanks to the referee and Professor B. Sommeijer for their valuable suggestions and comments.

References

- [1] K. Abbaoui, Y. Cherruault, The decomposition method applied to the Cauchy problem, Kybernetes 28 (1999) 68–74.
- [2] G. Adomian, A new approach to nonlinear partial differential equations, J. Math. Anal. Appl. 102 (1984) 420–434.
- [3] G. Adomian, A review of the decomposition method in applied mathematics, J. Math. Anal. Appl. 135 (1988) 501-544.
- [4] G. Adomian, Solving Frontier Problems of Physics: The Decomposition Method, Kluwer Academic Publishers, Boston, 1994.
- [5] K. Diethelm, An algorithm for the numerical solution of differential equations of fractional order, Electronic Trans. Numer. Anal. Kent State University 5 (1997) 1–6.
- [6] K. Diethelm, N.J. Ford, Analysis of fractional differential equations, J. Math. Anal. Appl. 265 (2002) 229-248.
- [7] K. Diethelm, N.J. Ford, Numerical solution of the Bagley-Torvik equation, BIT 42 (2002) 490-507.

- [8] K. Diethelm, N.J. Ford, The numerical solution of linear and nonlinear fractional differential equations involving fractional derivatives of several orders, Numerical Analysis Report 379, Manchester Center for Computational Mathematics, Manchester, England, 2001.
- [9] K. Diethelm, N.J. Ford, A.C. Simpson, The numerical solution of fractional differential equations: speed versus accuracy, Numer. Algorithms 26 (4) (2001) 333–346.
- [10] K. Diethelm, Y. Luchko, Numerical solution of linear multi-term differential equations of fractional order, J. Comput. Anal. Appl. 6 (2004) 243-263.
- [11] A. Erdelyi, W. Magnus, F. Oberhettinger, F.G. Tricomi, Higher Transcendental Functions, vol. 3, McGraw-Hill, New York, 1955.
- [12] K.B. Miller, B. Ross, An Introduction to the Fractional Calculus and Fractional Differential Equations, Wiley, New York, 1993.
- [13] S. Momani, K. Al-Khaled, Numerical solutions for systems of fractional differential equations by the decomposition method, Appl. Math. Comput. 162 (2005) 1351–1365.
- [14] K.B. Oldham, J. Spanier, The Fractional Calculus, Academic Press, New York, London, 1974.
- [15] I. Podlubny, Fractional Differential Equation, Academic Press, New York, 1999.
- [16] S. Saha Ray, R.K. Bera, Analytical solution of the Bagley Torvik equation by Adomian decomposition method, Appl. Math. Comput. 168 (2005) 398–410.
- [17] S. Saha Ray, R.K. Bera, Solution of an extraordinary differential equation by Adomian decomposition method, J. Appl. Math 4 (2004) 331–338.
- [18] C. Trinks, P. Ruge, Treatment of dynamic systems with fractional derivative without evaluating memory-integrals, Comput Mech. 29 (6) (2002) 471–476.